( |11ca90 Valves

& Controls

SERIES HP 70/79

3 PIEGE BALL VALVE




HIGH CYCLE STEM PACKING :
HEAVY DUTY STEM DESIGN Series HP 70/79

FULLY ENCAPSULATED DUEL BODY SEAL
FACILITATE WELDING WITHOUT DISASSEMBLY
INTEGRAL MOUNTING PAD

LOCHIBLE ‘NI
CHOICE OF SEATS AND SEALS
APl 608
(19
\ ) 0
-
0
S—O
Ser 70 (SP) —¥
1/2/-21/2" e—o
Ser 79 (FP)
1/47-2" =

CAOYs
&80

PARTS & MATERIAL

‘ PART NAME ‘ QTY. | MATERIAL

NO.

Carbon Steel ASTM A216 WCB
1 Boay 1 316 Stainless Steel ASTM A351 CF8M
Alloy 20 ASTM A351 CN7M

Carbon Steel ASTM A216 WCB
316 Stainless Steel ASTM A351 CF8M

2 | EndPiece 2| 316L Stainless Steel ASTM A351 CF3M (SW,BW)
Alloy 20 ASTM A351 CN7M

3 Ball 1 316 Stainless Steel Alloy 20

4 Stem 1 316 Stainless Steel Alloy 20

5 Seat 2 PEEK, DELRIN

6 1

oA Thrust Bearing ; )P(I'E\‘EK

7 Stem Packing ** XN, Graphite

7A Seal Protector 1 PEEK

8 Gland 1 300 Series Stainless Steel

9 Belleville Washer 2 300 Series Stainless Steel

10 Lock Tab 1 300 Series Stainless Steel

11 Packing Nut 1 300 Series Stainless Steel

12 Body Seal 2 TFM

13 Outer Body Seal 2 TFM Graphite

14 Handle 1 300 Series Stainless Steel

15 Handle Sleeve 1 PVC

16 Stopper 1 300 Series Stainless Steel

17 Stopper Bolt 1 300 Series Stainless Steel

18 Locking Device 1 300 Series Stainless Steel

19 Anti-Static Device 2 300 Series Stainless Steel

20 Body Bolt 8/12 | B8M

** TFM XN 1/4"-1/2" 2PC
1/2"-21/2" 3PC

Graphite 1PC (All Sizes)



Series HP 70/79

G
D ¢F
O O l
L=\
. D) Iaan (hicago Valves
A \ k; 4 IU v :) am
—
®)
1/2"~2" 70 (SP)
1/4"~1-1/2" 79 (FP)
Mounting Dimensions
-
2-1/2"70 (SP)
2"79 (FP)
—
\)4\\\\\ |
N
N
1/2"~21/2" 70 (SP) o
WEIGHT WEIGHT | ¢V 1/4"~2-1/2" 79 (FP)
70 (LBS) 79 (LBS) | (GPM) §
- - 1/4" 1.90
NN
1/2" | 1.90 3/8" 1.90 13
L(L1)
3/4" | 2.50 172" 240 15

17 | 370 | 3/4” | 350 | 40
11/4" | 7.00 1 640 | 70 1/2'~21/2" 70 (SP)
1/4"~2-1/2" 79 (FP)

11727 | 925 | 11/4” | 890 | 120
27 |13.00 | 11/2" |12.80 | 240
21/2" | 19.30 2" [18.75 | 400

DIMENSIONS (INCHES)

SIZE | SIZE 70
1SO5211

70 79 Al
1/2" | 3/8" | 254 | 254 | 258 | 525 | 039 | M5X0.8 | 142 | 0.20 |3/8-24UNF | 0.24 | 0.31 NPT | 050 | 050 | 0.85 | 0.69 FO3

3/4" | 1/2" | 299 | 299 | 283 | 630 | 0.56 | M5X0.8 | 1.65 | 0.25 | 3/8-24UNF | 0.31 0.55 NPT | 056 | 0.50 1.07 | 0.85 Fo4
1 3/4" | 331 | 331 | 3.03 | 630 | 081 | M5X0.8 | 1.65 | 0.25 |3/8-24UNF | 0.31 0.55 NPT | 0.63 | 0.56 133 1.07 Fo4

11/4" 1 394 | 394 | 382 | 9.65 | 1.00 |[M8X1.25 | 2.76 | 0.37 |5/8-18UNF | 0.51 0.91 NPT | 0.69 | 0.63 1.68 133 FO7
11/2" | 11/4" | 433 | 433 | 402 | 965 | 1.26 [M8X1.25 | 2.76 | 0.37 |5/8-18UNF | 0.55 | 0.93 NPT | 0.75 | 0.69 191 1.68 FO7

2" | 1-1/2"| 5.04 | 504 | 429 |10.24 | 1.50 |M8X1.25 | 2.76 | 0.47 |3/4-16UNF | 0.67 1.04 NPT | 0.87 | 0.75 241 1.91 Fo7
21/2" 2" 6.06 | 571 | 465 |10.24 | 2.00 |[M8X1.25 | 2.76 | 047 | 3/4-16UNF | 0.73 1.10 NPT | 098 | 0.87 291 241 FO7




PRESSURE (PSIG)

3500
3400
3300
3200
3100
3000
2900
2800
2700
2600
2500
2400
2300
2200
2100
2000
1900
1800
1700
1600
1500
1400
1300
1200
1100
1000

900

800

700

600

500

400

300

200

100

HP70 HP79

PRESSURE-TEMPERATURE RATINGS SERIES HP70/79

HOW TO ORDER SERIES HP70/HP79

HP70

TEMPERATURE (°F)

LT T T T
| 1/2"-21/2" Standard Port (70)
1/4"-2" Full Port (79)
X N
! \
1
:
| T N
: Carbon Steel (WCB) Limited \\
} To -20° Low Temperature N
) ; AN
'/ \ N
T
1
I
1 \
! \
‘ \ N,
A,
| \ &
| \ \
‘ N\
! N
T
| \
j \g N
| \%
! \Zz A
‘ \ N\
[ ‘\
‘ N\
w N,
‘ \
} \
! \
l \
50 -20 0 50 100 150 200 250 300 350 400 450 500 550 600 650

(61 (41 (6] (DI[GI1[X]) [sW)/[TE)

Series

HP70 | Standard Port

SERIES

HP79 | Full Port

(] 1/4
2 | e
([ 3 [ 12
([ v | &
wa |
n2 | 1w
[
([ 2122 | =

Body Ends Ball & Stem

Carbon Steel

316 Stainless Steel

Seat  Body
Seal

Stem
Packing Ends

SEAT D

DELRIN®

TE | TE-Threaded

4 | Carbon Steel

PEEK

SW| SW- Socket Weld

(6 316 Stainless Steel

BODY SEAL

GRAPHITE

TxS- Threaded by
EI'XS Socket Weld

BALL & STEM

6 | 6-316 Stainless Steel

XN

GRAPHITE

hicaqo Valves

& Controls

P
A

Toll-Free (833) 831-2312

Local (312) 637-3557
Fax: (312) 637-3543
E-Mail: sales@chicagovalves.com
www.chicagovalves.com
885 Cambridge Dr.
Elk Grove Village, lllinois 60007 U.S.A.

Due to ongoing development of our product line, specifications subject to change without notice.
Teflon® is a registered trademark of E.Il. DuPont.

Rev. 11/17




